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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct;
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will result in zero mark in that question.
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mber. Use marker or pen to fill the circies. Cutting or filling two or more circles
Write PAPER CODE, which is printed on this question paper, on the both
dingly, otherwise the student will be responsible for the situation.
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(D) ic) (B) (A) QUESTIONS Q-1
et e ]
90° 180° 270° 360° S
A compiete circle is divided into
» 0 -~ . > . - - ~ -
S B (bBeE - (s e DY Se s | 2
No pointat all | Three peints Two points Single point | A tangent line intersects the circle at
% A b Yo et &S ] 3
Tangent Secant Chord Diameter | A Line intersecting a circle is called
bl (Sra .:..hlr'g,fyd‘ =Asle Sade =l L,{ELE..;; ._{."4, r‘:'olf P+ P 4 6=0=blr] 4
Quadratic Reciprocal Radical Exponential | An equation of the type 3" + 3+ 6=0is
equation equation ,LMn equation  |a/an
@, o b, —a % P e GAdenld61| 5
v ! Two square roots of unity are
a+p (a+pBY —2af 1‘2 +J£’ a5 a’ + B%is equal to sl at+pt|
- Y
—r ‘JJ Lf/» ("J Lgi‘f:’:@ JL.I - L"LL,{ '‘a'~a:b ..:w"e 7
Proportion Consequent | Antecedd) Relation In a ratio a : b, a is called.
u=vk u=wk u=vk" u = wk* Ifi———i:kthen ;E:i:kjf 8
V. W v w
{ Br |Ax+B C | A4 Bx+C| A4 B B, gl :
7 =+ £ PO R i
i (IR, S, = +— UL P (x+1)(x> +2)
x+l o xP+2 ] x+l 42 x+! xT 42| x+2 x4
Partial fractions of (x+l)(x2 +2) are of the form
KET4 L Ll J—_{’Cf; S lev/;r’f b’;;L/"'f il 10
Super Set Set Power Set Subset A Collection of Well-defined objects is called
g 8 6 4 —‘L-JJ‘?'JU;'L(L;'{JL».:-{A!;5{1,2,3} 11
The number of elements in power set of {1,2,3} is
21l Lest QL2 s sl i P TP S Py - i’ | 12
Mode Mean Median Data The mos; frequent occurring observation in a
data set is called
ol S a Sz 8 -3 m—"g/f.:“’-‘;: u,-f";tg;’;rrz.:g, i 13
Mode Berceniiies Quartiles Deciles The observations that divide a data set into
four equal parts are called
a o iz 3r 1
30 150° 135° 115 “ . — =efds = 4
e ke e bt 3K 60° ¢ 77 s ﬂisgjyfftl.{l 15
Tom 2cm 3 cm 4 cm A 4cm long Chord subtends a Central angle
of 60° the radial segment of this circle is
1019 -- 1020 -- 58000 (4)
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Answer briefly any SiX parts from the followings:-

Write the quadratic equation in standard form and point out

oure guadratic equation. (x+T)x—-3)=—

¢
Solve | 2%
\

554

| =

A

- V)

[

Solve by using quadratic formula 4x’ — 14 = 3x
Find the discriminant of the quadratic equation
6x” — 8x+3 =0

Evaluate (I-30-30")
Write the quadratic equation with roots 0 , -3

Express as a ratio a: b in its simplest form

4kg,2kg 750 gm

Lad

x-1

3

W
|~

Find * in the proportion?
Find a third proportional to a*, 3a°

Answér briefly any SIX parts from the foliowirngs:-
3x+3
D{x+2)

Resolve into partial fractions {x
Define a rational fraction.
If L={a,b,c}, M={d & f g} find two binary relations in LxM

Define Set.

¥ X=0 T7=0" thenfind X7 and XUT

If X = set of prime numbers less than or equal ta 17

Y = set of first 12 natural numbers then find X W1 and XY

Write names of two measures of central tendency.
Find Range for the following weights of students.
110,109,84,88,77,104,74,97,49,59,103,62

The marks of seven students in Maths are as follows.
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(x+N(x-3)=-7

e Fr (1)

-~ .
St

s

|21_¢| i
.
4x° - 14 = 3x 5 S 1 0w Susas iR
f (-;v"wf 36t Grss (iV)
6x’—8x+3=0

(1-3@-30") “/'T—ff’l#""'*g v)
0.3 ufeib-Gundifetits v
S TS A a bl e (Vi)
4kg, 2kg 750 gm
PSS g e I X et i)
3

a° 3a LB (i)

6x2=12 - /227 g « Y Ldstn 3

3x+3
(- )ix+2) “"JD’JJ Aoz O

E @A Fe i)

2 oS £ LMIM=(d e f,g) o L={a b}/ (i)
- Aler (iv)

MX =90 )

X = .-,.v&ux,:l.,zl,i_:{.;.1?z,‘uuﬁﬁ (vi)
e XY XY § Y= cre(itad

e XAOT g XOT 57 =0

Y ;Jﬁ_‘u; wE S5 i)
e S £ e (i)
110,109,84,89,77,104,74,97,49,59,103 62

14 U()U"J:‘ I g_,f:'.?u? 7] 4_!.. /,'}:Z A fix e u!‘b:"l} b (i)

Calculate the Arithmetic Mean.| student No s § b

11al3lalslel| 7| -Epriire

Marks o P

45{60|74|58 65|63 49

1020 -- 1020 --58000
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Answer briefly any SIX parts from the followings:-

Express into D° M' 5" form 315.18°

Find ¢, when 0 =60730", r=15mm

iha AMBC a=17cm b=15cmandc=8 cm,

Fing mZA4

Define Interior and exterior of a circle.

What is the distance between the centres of two circles
touch internally.

Define circumference of a circle.

Define cyclic quadrilateral.

Define the inscribed circle of a Triangle.

Divide an arc of any length into four equal parts.

Part H

6x2=12 _L,y}f.;u,e/"?z.lzl 7 e e Lditn -4

LA st M pe 31508 O

G=60"30 ,r=15mm _ﬁgﬂ_."ﬁjp ¢ (i)

c=8cmutb=15cmea= 17 cm* AABC A1 (i)

S ‘,1:’ mLA Vv

._é.u.é;b;d_/_::)}f,-'-uﬁ[.i_.af!) (iv}

b Q¥ pE Yoy st 2 S g i Souitss ()
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/JJ/ Py

£ h:sJiJuG; L (i)
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Note: Attempt any three question. Q.9 is compulsory Each Question carries 08 marks

Solve the equation by completing square’3X°+7x = 0
Find p if the roots of the equation - x50
differ by unity.

ami}_y and a=3 when A=4 find @ when b=§

9
Resolve into Partial fractions (x—D(x+2)°

If U={1,2,3,4,...., 10} A={1,3,5,7,9} B={1,4,7,10} then
verify the following A~B=ANB
Find the standard deviation "S" of the following

numbers 9,3,8,8,9,8,9,18

If sin@ = :f— and cosf? = \{T? . Then find the vaiues of
tan &,cot ,secf and cosecd

In the circle of radius 4 cm draw a Square.

Prove that if Two chords of a circle are congruent

then they will be equidistant from the centre.

Prove that any two angles in the same segment of a

circle are equal.

1020 -

1020 --

3.76 ‘L‘?x —_ 0 "-: wd/‘un ,JU):J’\..—"}V 0) 5
L= x+pt=0o ,f:é.{r#":_-é'd’p ()
PRI I- (Roots) oy

;f»}#’_,fd’ﬂ‘.;b 4 _ra=3 4

O)-6
__3.1 b_g _:_,_;:

‘}
4£JVLJ~J/U}7 (._,)

1)(x +2)°

(x-
U=(12.3.4,/10} < A={1,3,5,7,9} 5 B={1,4,7,10)./1 ()7
A-B=AnE _E.J_:;.QE.:./)‘,JJ/J”}&'J};

L e SIS A S ()
9,3,8,8,9.8,9,18

= s
scc@ .cot@ tan@ ju cosé’=}% sl 8inf = TS S10).8

--L.f/flb’bfgk; cosect
Ll il e Faubeinl (@)
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{D) {C) (B) {A) QUESTIONS Q-1
; 5 5 . AU T b K 60 S v Gl 4]
A 4 cm long chord subtands a central angle of
60°. The radial segment of this circle is cm.
T s = i3 }‘f p P -
% % A T ‘ | - ‘Lt')"_.; /‘.f L,_"‘r.../b-tﬂ 2
An angle inscribed in a semi circle is
al =0 a0 |ad=bx,ax0 | @ Hbxre=0,lp 0o 4o -« PeSeitGon| 3
az{ Standard form of quadratic equation is
L—a,~o’ L,—a, 0 ~Lo,~o" | —L—w,-»® |Cube roots of -1 are Sl 4
a+ a—-f 1.1 1 I N | ] . 1| 5
i o 2 — ik b SRS P
o ap a B % a f is equal to g 4le T A
il '}Jd/,, (};Ji J"'J _g.t"llr.rau:a:b».w;"‘ 6
Proportion Consequent Antecedent Retlation Inaratica: b, ais called
2 2 2 2
vk w=wk a=vk£%u=wk Ifiz—li:kthen ?E=—‘i:kﬁ 7
i Vv W v w
A =l 3 A £+l x4l 8
o = e el i ————
A constant An identity ropet -4’ A proper (x-1)(x+2) : T (-1 x+2)
term fractio~~{  fraction
s et -».rfff - *f!k":xéucdfu’-'u’--zr 9
Super set Singleton set Subset A set with no element is called
{4} {qﬁ, {a}} # —a bl Ferdi| 10
Power set of an empty set is
& i =3 4 257 i}'
KU K Usshs 18] §usl, Woe s 11
A histogram s a set of adjacent
Triangles Circles Rectangles Squares
Vﬁ}:: }3’0"( J.':’Lﬁsj/:,’-' :I;’{_F‘s)} —& E'ilrf"!'u: L,gd/r';yd:p" 12
Closed figure Histogram Ungrouped | Grouped data | A data in the form of frequency distribution is
data called
tan & 1 0 -1 cosec’@ — cot* ¢ = 13
55 L A & cerkd L3 Sgfa]l 14
The symbol for a triangle is denoted by
P Z b2 A TN e tr Shlr b b f] 15
Diameter Centre Chord Secant A circle has only one

1021-1020- 50000 (3)
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Answer briefly any SiX parts from the followings:- 6x2=12 _q‘&fagtzﬁélzr £ .;.(jf.:. ‘_J.‘.’J._j o -2

Write the quadratic equation in the standard form (x+7) (x-3) = -7
Solve the equation using quadratic formula

6x*-3-7x=0

Solve by factorization 5x° = 15x

Find the discriminant of the given quadratic equation

4x°-7x-2=0

Evaluate (2+20-20")(3-3w+30")

Write the quadratic equation having foliowing roots
342,342

Find the value of p, if the ratios 2p + 5. 3p + 4 and 3¢ 47are equal.
Find the value of p in the continued proportion 5, p, 45

Define ratio and give one exampie.

g

07) (x-3) = -7 @ b e e ()

e JE L i G =i (i)

Bx°-3-7x=0

5x* = 15x & Se 3 AL GF (i)
4 -7x-2=0 _u;)?}vaﬂ’ Si¥eble s (iv)

(2+2— 2&)2)(3 —3m+3m%) _;{5,»,1:».:,2 {v)

_.;_)f’g.::af."»—‘&ﬂ 3300 {Roots) U%J g,tj Eor {vi)

T e

L3 4ai2p+ 5 3p 4L /f.»z.r:b‘uiu p (vii)

-¥ ._..-rl/‘_,

LS, p, 45 1 25 el F S b (i)

Z. Jl{'h()!i '-"- ._u/"‘_,._.ﬂ {ix)

Answer briefly any SIX parts from the followings:- 6x2=12 -L{.Q;apli/:"d:l?l £ a.Jf;.u‘.'d.’.i o 3

T7x—9
Resolve intc partial Fractions. aifix ~3)

Define a rational fraction.

if X =¢.Y=2" thenfind X VY

If A={a,b} and B={c,d} then find AxB and BxA.

If L={a,b,c} , M={3,4} , then find two binary relations of LxM
Define class limits. -2 L b P Fla (vid)

Define variance and write its formula.

The marks of seven students in Mathematics are as

Tx-9

(x+D(x—3) -égl'b.f'»’b)‘ (i)

AP )

e XOY 5y =2" X =0 7 (i

_ oo BxA s AXB e B={c,d} 9 A={a b} (iv)

& i §E0 £ LM I M=(3,4) L=(a,b,6} /T (v)

Define intersection of two sets. aé'_@,ﬁ.fd’aiél Je (vi)

A e
LEE FbsE P e P (vidi)

B L d e S U et (iX)

Student No.| 1 2

4

5

6

7

foltows. Calculate the Arithmetic Mean
Marks. 45 { 60

74

58

65

63

49

1022-1020- 50000
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Answer briefly any SIX parts from the followings:- 6x2=12 -/ zfelz L7 § e Me Lditn -4

1 ; .
Find ¥ when [ =4¢m , @ =—l4— radian [=dem , 0= 1 radian a'fr,bf r (i)
Verify the identity. (fan&+cotf)tané = sec’ 8 (tan@ + cotO)tan@ =sec’ 0 _zL . /(10 (ii)
ina ABC a=17em , b= 15cm , ¢ = 8om Find m£4 a=17cm, b=15cm, ¢ = 8cm 2 ABC A (i)
e mlA Gy
Differentiate between interior and exterior of a circle with diagram. 25 e FIpS crpansblbe Ll (iv)
Define a secant of a circle. Sl s ()

3 g i s ey x ' : . P | 574 - .
Define circumangle of a circle. &= ._.g{fJa,,sl,r/if..C o 7y (vii) Define diameter of a circle. &= ..g/’u(}’zi &y (i)

Define escribed circle. gy e (i)
Divide an arc of any length into four equal parts. -’TE—(;JJ JrP sl jgﬁ;}_,g JJ_LJJ" {ix)
Part 11 r:i -

- BABL s S0 A feir L etride L ud

Note: Attempt any three question, Q.9 is compulsory Each Question carries 08 marks

Solve 42%*1.92°+1=0 427 92+1=0 22 F 05
Find p if the sum of the squares of the roots of the L ax? + 3px + p? = 0= hsle 1 & Sp ()
equation 4x* + 3px + p? = 0 is unity. ndr Lo L Curl & o
ifa:b=c:d then show that | S ek iwa b=c:d) (-6
platb)+tgb:p(ctd)+qgd=a:c pa+b)+gb:plctdj+qd=a.c

7 -
Resolve into partial fraction, a:%a”‘;Tl) (x;% -u:/':-)::b’ Az ()

X£{1,3.7,9,15,18,20}U={1,2,3,4,56,....20} /1 ()7
XYL XY S5 ki Y={1,35,17)

ifU={1,2,3,4,58,..20} X={1,3,7,9,15,18,20},
Y={1,3,5,...,17} then show that X ~¥ =X "Y'

Find the standard deviation "S” of the numbers. H.’:_{!'}""S"._Efﬁ ok ()
12,6,7,3,15 10,18, 5 12,6,7,3,15,10,18, 6
A tree casts a 40 meter shadow when the angle of - 252950 §lmw e KAa0 L¥=sn Ll ()8
elevation of the sun is 25°. Find the height of the tree. -éﬂi”él{'ﬂ T
inscribed a circle in an equilateral triangle ABC with S & 1B et ABC 245 Lo Sl ()
each side of length 5 cm. -nr"sdl.,}

Prove that two chords of a circle which are equidistant (L » J‘b-“fguﬁ,j-"wl' Sloc Tpaiinle et et 9

from the centre, are congruent.

Prove that the opposite angles of any quadrilateral e sl (,:’,P‘ffre;UJ:L‘&é ,»JG;J,-}!: Sy’ a_"':..:f,e
inscribed in a circle are supplementary. -t

1 022-1020- 50000



